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81 A

QUESTION BOOKLET Question Booklet No:
Entrance test for D.EL.Ed. Admission /
Diploma in Art Edu (Visual) 2016

General Instructions

Roll Number:

apcose 81 A

INSTRUCTIONS FOR MARKING ANSWERS
1. This Computerized OMR Answer Sheet is to be filled in by BLACK INK/ BLUE BALL — POINT PEN Only.
g @fITAIRe OMR @ Q@9 agal gl R !R / AR P 29 emd &l 64f QUILIQ K|

2. Since answers and other particulars are to be filled in with Black / Blue Ink Ball-Point Pen, there is no provision for

change of answers by eraser / blade / white fluid etc. Therefore, all particulars including answers are to be filled in
VERY CAREFULLY. Kindly note that the OMR Answer Sheet will not be replaced under any circumstances.

6462G QA IQ° 2 TR @RI / A1R QIFYQ PRUNE 609 MLAQ *R JAS AR, 69¢) 99Q / 692 / ARG
AIRINIES AIRLIQ MQRAIRIT | 604 ANAG B AN TR 2GYS UG ALRIEA YOS FAG| QAIRA IS F2Ig,

6QI6aled 90EG6 OMR Q@LCEeI 908 GQIPe Q1T |

3. Darken only one circle for Answer of each question as shown in the example given below. Marking should be dark
and the circle is to be filled in completely as shown in the example.

A7) A9ILRE6R 4IRS B 64D JER 28R TIR 629% 6315 @ 69IR A7 FAg | AFILAER 4IRS OF

g0l 69IR6Q Glig @Rl / 1R e @Q 02 @I @35S |

4. There is only one correct response for each question. More than one response to a single question shall be treated
as negative response. For each negative marking, 0.25 marks shall be deducted from your total marks.

J6N@ g9 IR 6615 G0Q 0aq 28 | AT 6915 5] 99 Q89 AR ISRI@ 6AING QF FAULINZN, 6962 GIT

R AAA AUER F6T0R! QUG | Y6TIR QR 2QA AN ©.98 AIF GSIDR |
5. Mark your answer only in the space provided. Please do not mark any other thing on the OMR answer sheet.
6@er T2IUIRYS AI96a & Feq ae 936 @03 | I8 93aIa 65143 AR6Q 2RISR 52 Gag QIZ|
6. Rough work should not be done on this OMR Answer sheet. Use rough sheets provided at the end of the question
booklet, for rough work.
OMR R&Q 989160 QT @IFl @G QT 19T QIF IR g4 3910 18996 &9l QT 4IF / QI9lE QIRRIQ /G |
7. Do not fold OMR Answer Sheet. Carbon copy of OMR answer sheet can be taken away by the candidate.
OMR 200 937Iq @Is 963 AIZ | 28e 96RIa Q169 @0 giEl 664! 2AFENS |

Please read the following instructions carefully:

1. Write your Roll Number, Question Booklet Number and 2. Strictly follow the instructions given by the Centre
Question Booklet Series on the OMR Answer Sheet Superintendent / Centre Observer/ Room Invigilator and
carefully and sign at the appropriate place. Please note instructions given on the Question Booklet.

that in absence of the correct Roll number, Question
Booklet Number, Question Booklet Series and Signature
on the OMR Answer Sheet, your OMR Answer Sheet will

be treated as invalid and will not be evaluated. Please see the last page for complefe instructions.
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Section - |

1. Select the synonym for the underlined word.

I watched my friend abasing himself before a policeman.
(A) Belittling

(B) Abusing

(C) Retracting

(D) Detracting

2. Select the correct sentence.

(A) The doctors cut out his leg because it was severely
injured.

(B) The air conditioner becomes cut off when the
temperature gets to 22°C.

(C) The phone company cut in our phone because we
didn't pay the bill.

(D) | cut this advertisement out of the newspaper.

3. Select the correct sentence,

(A) He's lucky to be alive; his shop was done over by a
street gang.

(B) It's time to do over with all of these old tax records.
(C) My teacher wants me to do my essay up because she
doesn't like my topic.

(D) Do the hanging of your coat before you go out.

4. Select the correct synonym for the underlined word.
The angry man was forceful in his remonstration.

(A) Refraction

(B) Disagreement

(C) Demonstration

(D) Perception

5. Select the correct synonym for the underlined word.
There has been a precipitous slide in the popularity of
cricket in West Indies.

(A) Gradual

(B) Normal

(C) Simple

(D) Dramatic

Direction for questions 6 to 10:

Read the passage and answer the questions that follow.

Firefighters are often asked to speak to school and
community groups about the importance of fire safety,
particularly fire prevention and detection. Because smoke
detectors reduce the risk of dying in a fire by half,
firefighters often provide audiences with information on
how to install these protective devices in their homes.
Specifically, they tell them these things: A smoke detector
should be placed on each floor of a home. While sleeping,
people are in particular danger of an emergent fire, and
there must be a detector outside each sleeping area. A
good site for a detector would be a hallway that runs

between living spaces and bedrooms.

Because of the dead-air space that might be missed by
turbulent hot air bouncing around above a fire, smoke
detectors should be installed either on the ceiling at least
four inches from the nearest wall, or high on a wall at least
four, but no further than twelve inches from the ceiling.
Detectors should not be mounted near windows, exterior
doors, or other places where drafts might direct the smoke
away from the unit. Nor should they be placed in kitchens
and garages, where cooking and gas fumes are likely to

cause false alarms.
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6. The passage states that, compared with people who do
not have smoke detectors, persons who live in homes
which have smoke detectors have a

(A) 50% better chance of surviving a fire.

(B) 75% better chance of detecting a hidden fire.
(C) 50% better chance of preventing a fire.

)

(D) 100% better chance of not being injured in a fire.

7. The passage implies that dead-air space is most likely
to be found

(A) on a ceiling, between four and twelve inches from a
wall.

(B) near an open window.

(C) in kitchens and garages.

(D) close to where a wall meets a ceiling.

8. Which organizational scheme do the list of instructions
provided in the passage follow?

(A) Chronological order by topic
(B) Hierarchical order
(C) Comparison-contrast

)
(D) Cause-and-effect

9. A smoke detector should NOT be installed near a
window because

(A) fumes from outside may trigger a false alarm.
(B) a draft may create dead-air space.

(C) a draft may pull smoke away from the detector.
(D) noises from outside may muffle the sound of the

detector.

10. What is the main focus of this passage?

(A) How firefighters carry out their responsibilities.
(B) The proper installation of home smoke detectors.
(C) The detection of dead-air space on walls and ceilings.

(D) How smoke detectors prevent fires in homes.

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

11.

12

13.

14.
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Which of the following commissions/committees is

related to 'Educational reforms'?

(A) Jyoti Basu Committee

(B) Kothari Commission

(C) Malimath Commission

(D) Balwant Rai Mehta Committee

Which of the following policies’ core objective is to

empower the individual, by enabling her/him to realize

herfhis full potential through a process of lifelong

learning?

(A) Digital India

(B) National Policy on Skill Development and
Entrepreneurship

(C) The Science, Technology and Innovation Policy

(D) Sarva Shiksha Abhiyan

Under whose chairmanship did the National Advisory

Committee in 1993 advise on improving the quality of

the learning while reducing the burden on school

children?

(A) Prof. Yashpal

(B) Prof. N R Madhava Menon

(C) Ramamurti

(D) Daulat Singh Kothari

Which of the following schemes was initiated by the

Government to enhance enrolment, retention and

attendance in school?

(A) Mid-day meal

(B) Indira Gandhi Matritva Sahyog Yojana

(C) Integrated Child Development Services

(D) Kasturba Gandhi Balika Vidyalaya

11.

12.

13.

14.
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FIRYe 69@ 0ER/ QAE 'SR AR A2 IP 26T
?

(A) 65415 @9 AT

(B) 621018 @6i8Q

(C) fRfE afieq

(D) Qe QI 6716251 QAT

FORge TuQ 609 R MBS CIFe  2eEde
goalg ere Al Jal @86l fGZIa ASBRAE
QOQIR AAY aged  ?

(A) GaoIm Q&

(B) 099! Q98 99° @6QUINa SRk ORd
(C) GRIa |, QIEQIDR 99° 26Re TR
(D) QR8QI 2BaIR

1993 6 @2l ARUTLER MILRIR KRG TS
dAIQ e 98 Qe Ae Ym TNITA 6T TN R
Qhn 9ge @l gie an ?

(A) g6Trq QLR

(B) 96099 9] IR 7RI} 6767

(C) QIag@

(D) 69107 A% 6RIOK

RN TNNIPD, SR QYR ¥e° RWFT QLIRa
QIR AARIQ 5, O FIQ 699 AR AR
@oeeR 2

(A) IZ 6RIGE

(B) @@l QI8! FI9Q AL6AIT 6QIRGI

(C) arge &g SaId 6Q<

(D) 2941 Q81 QAR FeUea



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App

WtsApp/Call- 8596976190

15.

16.

&7

18.

19.

In which of the following areas is AICTE working 7

(A) Primary Education

(B) Teachers Education

(C) Vocational Training

(D) Technical Education

The Indian Parliament is composed of three parts.
First being President, what are the other two?

(A) Prime Minister, Leader of opposition

(B) Chief Justice, Governor

(C) Member of parliament, Justice of High courts

(D) Rajya Sabha, Lok Sabha

The dye responsible for the blue colour of jeans is

(A) Safranin

(B) Induline

(C) Indigo

(D) Rhodamine

Who appoints Governors and Lieutenant-governors for
a term of 5 years?

(A) The President

(B) The Prime Minister

(C) The Vice President

(D) Parliament

Which part of the stem in some varieties of cactus
helps the stem to expand and contract depending on

water availability?
(A) Ribs

(B) Buds

(C) Trunk

(D) Stolon

15.

16.

17.

18.

19.

FORge AR R CAdREa WRIRATR RIdY @daN ?
(A) Qedie da

(B) 8« &l

(C) Q& aqele. dal

(D) 6598« &l

QRGIE RG] F6AIT AWINIRG 69 F00 621RR
| 926G QG 62RF 6R6R AN GaT @€ ?

(A) QIEAR!, AV ARA 603

(B) A%y S9IAG , QIFYAIR

(C) OIRUICAEE ey , BIR 6RIYERa VIQTT

(D) QUSHLRI , ERIGAL

290 919 A JIR 6RY P9 LR AR ARAN
(A) ATINRR

(B) 98ISR

(C) 2dsql

(D) 6QIQAIRR

QRITIR 6 ARG @9 8 ad a6s QIF aAF ?

(A) QI8ad

(B) QlIeaa
(C) eg- Qugad
(D) QIRUSAES

38 783 geI0e QIIREY AR QI8 69 &%
GRS QUARS QU AYARE 8 AFee 6N ?

(A) 9]
(B) @@

(C) 9@

(D) 6Q6RIR
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21,

22.

23.

A catalyst increases reaction rate by 20.

(A) decreasing the activation energy barrier

(B) increasing the activation energy barrier

(C) decreasing the energy difference between product
and reactant

(D) increasing the kinetic energy of the colliding

molecules

Five friends P, Q, R, S and T, are standing at the five  21.

comers of a regular pentagon. At most how many of
them are standing at equal distance from R?
(A) O

(B) 1

(C)2

(D) 4

A round table has 16 chairs around it.
persons can sit adjacent, then at most how many
persons can sit around this round table?

(A) 6

(B) 8

€7

(D) 16

In a group of siblings, each girl has three sisters and 23.

five brothers. How many siblings they are in total?

(A) 7

(B) 8
(C)9
(D) 10

If no two 22

AITRA] gERAIq TN VIR 2

(A) 88 goeeacia dauelq @f @@

(B) 68 goeeacia A5991q aela @8

(C) aQle 6 QFQEe AU 9BQ MRIGY *F @4
(D) 283 Qdda oFe 943 9F @a

"6aliEN QARIGE CEGEQ ClE 6RISER B G961 9
P.Q.R S68 T §¢l 621088 |ROIQ AAIF 9R9Ea
6REE @6 RS &0l 6IREE ?

(A) 0

B)1

(€2

(D) 4

69l 69 69gMa QIGCES €9F 6old QPR | Q@
6164 QRT AKIKIY 6QIREFEE Q@ 94 @ QTSR 606l
6R6T T4 Q1@ YT 6OIm 699m SR e *F QIdEs ?
(A) 6

(B)8

()7

(D) 16

6aldd 9ReQ @ 6ldl Gase |, 96 Sue GF @edn
B 8 @R 2RE | 6QA7IER IS 6R60 QIR QRET ?
(A) 7

(B)8

€)9

(D) 10
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24,

25.

26.

27.

In a queue of 15 persons, Sita is standing at fifth
position from front. Madhu is standing at the last, and
Shivi is standing at fourth position from last. Sita and
Shivi exchange their positions, and then Shivi and
Madhu exchange their positions. Where would Madhu
be standing now?

(A) Last position

(B) Fifth position from front

(C) Fourth position from last

(D) Front position

Harish has two children, NOT both of them are girls.
How many sisters will Harish's only son have?

(A) 4

(B) 1

(C)2

(D)3

What will be the next term in the series

14, 196, 2744, ?

(A) 78912

(B) 44696

(C) 23716

(D) 38416

In a town, for every two females there is one male.

Which of these could be the population of the town?

(A) 31,000
(B) 33,000
(C) 35,000
(D) 37,000

24.

25.

26.

27.

601G UIGEQ 8 @8l Bl 62IReE , ol gar 8@
60 291 62T F1y cANER 89l 6 , e 4]
6a0Q ¥8 QIG6a 86l 6208 dol 8 FQ 6aAIREa AR
JOQEe @eM W9° d6a d@ B iy 6ANRTA QIS
JAQEE P6M QAR T} 699 W6 FQl 62REd ?

A) 668 QIQ6Q

B) genIg 8¢ QR6Q
C) 6889 ¥ AR6a
D) 2llg6a

— g g, e,

208 QA5 QARG , 9F FEKe T2 Qo8 etdw IeAIg
JEQ 6960 K¢ VR4l 288 ?

(A) 4

(B) 1
(C)2
(D)3

0¥ | RCY , 99¥Y , AR UQSR LT @4
629 ?

(A) 78912

(B) 44696
(C) 23716
(

D) 38416

69T AEQER JF 9R K6l AERIER F68 I 28E |
FINYS AR 6RE6 A2AQ FEATM 6RRAGA ?

(A) 31,000
(B) 33,000
(C) 35,000
(D)

D) 37,000
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29.
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In a secret language, 'grapes are sour' is written as 28.

'his maq wor', and 'curd is sour' is written as 'hew wor
tau'. What is the code for 'sour’ in this language?

(A) maq

(B) wor

(C) hew

(D) tau

In a certain language, STAKE is coded as EKATS. 29.

How would SYSTEMATIC be coded in this language?

(A) CITAMETSYT
(B) CITAOMETSY
(C) CITAMETSYS
(D) CITAMETISY

A dice on which numbers from 1 to 6 are written on its ~ 30.

faces is taken and is thrown. A 3 X 3 square grid is
taken, and its rows and columns are numbered from 1
to 3. One of the boxes is selected from the grid such
that the sum of its row and column is same as the
outcome of the dice. Which of these boxes of grid can
never be selected?

(A) Centre box

(B) Top row, leftmost column box

(C) Rightmost column, bottom row box

(D) No such box is there

Which of the following can be considered as a formal 31.

agency of education?
(A) Cinema

(B) News paper

(C) Museum

(D) Radio

WtsApp/Call- 8596976190

NG 6919912 @gleQ ‘grapes are sour’
el q 'hew wor tau’
6LIm2IN |\'1§ QYea sourq 6wle @l 26T ?

@ 'his mag
wor' ‘curd is sour’ emall
(A) maq

(B) wor

(C) hew

(D) tau

6a1d 4@ 588 @ISIE! STAKE § EKATS ®I6Q
6217 @9l 198 698 @8R SYSTEMATIC § @9@
6R10 @Al AR afe ?

(A) CITAMETSYT

(B) CITAOMETSY

(C) CITAMETSYS

(D) CITAMETISY

e Q 9 6ndl 62IRS 6TITY QP 6915 TR G
6T GUCR €AY N N QR FU ARET, 98° 92
UG B 9A6a ¢ @ N Adie 9F0 @Al CIRE 69T Feo
QAR ¥OR 99 QIRA QT €UURR § B 9AR AWAIT
QG 6T TRTR AT AR 62RQ AN AQ
6QQ QIQAT 6@6e & 98 QIR 9IS /F ?

A) 63568 2]l QIR

C)@lald ada 2@ , 6F UEQ Qe

(
(B) @0Q dXa , QK 249 QL
(
(D) 608 693 QIqa QIF

FINGe kI 69AF] S JJIQ 6FRT DI6Q
ged @l Jdin Ife ?

(A) 9998

(B) slea9iea

(C) eglaas

(D) 69512
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32.

33.

34.

35.

36.
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Which of the following could be a problem faced by a

student who continuously rubs his eyes and pays less

attention during blackboard work?

(A) Dental problem

(B) Mental problem

(C) Vision problem

(D) Audio problem

Which of the following qualities would appropriately

define 'learning'?

(A) Understanding, imagination and skills

(B) Change of behaviour, practice and experience

(C) Creativity, conviction and endurance

(D) Intuition, intelligence and Imagination

Attaining of which of the following attitude is the

objective of elementary education?

(A) Critical thinking

(B) Confidence

(C) Reasoning

(D) Comprehension

Which of the following reasons prompts us to teach

mother tongue language at primary level?

(A) It helps in the child's intellectual development

(B) It helps in the child's numerical ability

(C) Children learn better and faster in a language they
can understand

(D) It develops confidence in the child

The rise of Montessori-based education has led to the

adoption of

(A) Teacher centered method

(B) Hands-on instruction method

(C) Collaboration method

(D) Problem solving method

32.

33.

34.

35.

36.

WtsApp/Call- 8596976190

QRRITS QY ANGER ARG AUY QYS! I&° Qe IR
69904l SR FI0E FIAYS MRIQ 6RRC 62IRUIE] ?

(A) Q12 QO

(B) quede aaay
(C) Q& &3 aaayl
(D) 994 4z aaqyl

FIRge AU 69 g O] W6e dAIR LRI
QuIRaN ?
(A) QU , TR 8 BG

(B) QUe2I06Q CGQES , QU G GRS
(C) Qee 6@ ,F4IQ 8 ALREIRG!
D

) 2858 | B8 99° 93169

GORYS AR 69 FERIKIQ gad 6291 TIAl AR
JAQ B Jad 6LIeaN ?

(A) AAERRAIRS TIRIIQ
(B) &) G4
(C) Landiel
(D) 6Q14463

FARYS AU 629 QG ANY YRR a6 PSS
9 GRSl g 6gRIEe @R ?

(A) 921 940 691G Gala @da

(B) 92 dgQ QYR 9V 9F QAR &N

(C) 8¢ 9% QIEIQ FIERIQ NG dgara 6 Q&arg
(D) SgQ A6519% QQIRAN

Q69621 2GS F8I MY FIRYS FUQ 6966
ge8 *RQIR Il 6aHIaE ?

(A) G830 6F5e QIR

(B) Q69Ig1a Fead Qaig

(C) Q26015 RS

(D) QAIQl QERIE QI
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37.

38.

39.

40.

Which among the following is NOT an effective way of ~ 37.

using the blackboard in a classroom?

(A) Blackboard should be thoroughly cleaned before
putting it to use

(B) Rub the board in a haphazard way

(C) Minimize the glaring effect of light on the board

(D) Write legibly in straight lines

Where are students with severe learning disabilities 38.

taught?

(A) General classroom along with the students without
disabilities

(B) Self-contained special education classroom

(C) No special place in particular

(D) Staff room

Out of twelve years of schooling, eight years are  39.

termed ‘'elementary education’, which was made
compulsory. To which of the following age group does
it correspond?

(A) Between 5-13 years of age

(B) Between 6-14 years of age

(C) Between 7-15 years of age

(D) Between 4-18 years of age

What would be the ideal suggestion to a teacher when  40.

the back-benchers are always talking in the
classroom ?

(A) Allow them to do what they want

(B) Give punishment to them

(C) Make them sit on the front benches

(D) Ask them to leave the class

FORYS CUQ 60 QRIS LTI AR Y@ TRQR
QQIE 62IR [aM ?

(A) QISR QARG 9Ag ¥2lg 9PER @Aal 9l 5%
(B) foagl 951 98 ATl RGO

(C) O¢l QUea LRI YETee LAKAe /7 QYe!
(D) Ao 60dIa JRAIR VR SRYS!

olg dadia 2QIReiel gQl BIGAIRE 6RE0IEa Jl

QR QI QRN ?

(A) ARIDE 6861160 6UR0IER AR QAIFIRY TIFAIER
QQaE

(B) 9o°- 249 2Q1 909 6g9%6R

(C) 6204 6a16d G868 AR 968

(D) Y gseR

Qe eda gefie dal @i dug 0 ¥y " gede
481 " @R ged QQl AIRg A9l SRISIRe 26T |
FORYe TUQ 699 QAIETINIY Ll 9IIA AN ?

(A)5 @ 13 @d
(B)6 @ 14 Qd
(C)7 @ 15 @8
(D)4 @ 18 Qd

Qa4
Qa4
Qud
Qud

689160 08 6986a 9daql JRICIEE AERER @l

62029 0ARG6R dNR 2 QU K4 @hEl ?

(A) 626168 QI QIgRE G2 QA 66
(B) 671105 94 6Q6Q

(C) 6Q9ling 92 6Q86a delg @369
(D) 68411 gle QRTR FE6Q
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Qdia Language

41, ‘U4 6949 9@FQ AR @ QYR ! 47. 99I6Q 920 @@ 9@ (10 UF | 6QHIFE dR5a §aqd QIg |
(A) 998 9IRS (A) get
(B) ageq Ay AR (B) geat
(C) Y ORI GRS (C) q&
(D) Q% SRS (D) 9@
42. 63 Q€AIRIER 6R60IF gL Q8] ? 48. ‘QAR'QQ AR 908 @'4 ?
(A) ¥ (A) gaee
(B) & (B) goie
€ » (C) Qe
(D) ® (D) goae
43, 98@ 2IRAIRE IO JdFIRen | 926R 49l @Rdedq 121 49, @NGe ddq A0R deTy Sl
(A) d1] (A) agQde
(B) gIgnIeg (B) Qgide
(C) @o (C) agnds
(D) QQIRER (D) aeada
44, F9QQ AR 8 | 1CER YN AVANTY S22 | 50. GO UGS 48 T2 |
(A)  aq+aie (A) aRIee
(B) ae+eaie (B) @2deo
(C) af +aQ (C) QaIee
(D) <+aie (D) &oe
45, A0Q 496Q S0 9 | 51. ‘GOIRITR Q9T a @ geQ @9 |
(A)  asn8 (A) LURER FRIRNTRI
(B) zda (B) clamea 9ol @Igal
(C) aidQ (C) &8IG 6QQl
(D) ads (D) o&al
46, FRIGER QIS A& @8 | 92EQ 6REE F6aTE 7 52. GOnge FIQ ale 998 Qig|
(A) Q2192168 (A) Qe
(B) @9ge (B) age
(C) aé (C) «qe
(D) @28 (D) «ge
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53. 907l ANIRR GRF QM J6F | 186a 8l guadq o212 |
(A) QI+
(B) QA9+
(C) Qe +aa
(D) QIP+aa

54. Q1 IRC0Q QITAQ I8 @'8 62Q ?

(A) fea1
(B) @ee
(C) @I
(D) <QQ1

55. CILI9Q16Q L6RR Q19 28 | 6QQIFE F9a 28 @'€ ?
(A) Q1€
(B) 29
(C) geeald
(D) <IPIQ Qad A

2 >
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41.

42,

43,

44,

45,

Join Us-

Telugu Language

Bl Forr ¢S Baboar BOD TFI0®
D00ETE?

(A) Sgwgo

(B) 998 =go

(C) &R =g

) S50

TR HeoIH H&?

(A) 3%

(B) &

(C) 5

(D) Srend

Bob SrE VG BBEM EOAKEH

(A) Boop8esn

(B) doyeasio

(C) Doepdm

(D) 0505335850

©8508HS wFEBENO JHPPEnHLH 250D HE?
(A) 60

(B) dgo

(C) S50

(D) &eg50

‘e ezow 653%5; g3 %507 mééoé‘s a&chHo
Toahod

(A) @ezom

(B) 508

(C) 5’30%956

(D) S’JJ%GSS SoehEso

46.

47,

48,

49,

50.

8 2gros® BB sorBerdcharol
DH0EPE?

(A) ﬁs?ﬁé&:

(B) 8852

(C) Srgyesn

(D) o%olggsdm

23RN ©0&

(A) 30395

(B) %003 #ErH0

(C) serio

(D) rig5¢seno

SoenH ég@'c?é lnle}

(A) Ss¥aho

(B) @arso

(C) 00D

(D) &

g Qéacgaéaﬁ: PR AB00eEPE?
(A) 8& o

(B) 8ejys50

(C) rrssgo

(D) evisgiaso

& (Bob B eSETHE B Kr0I6?
(A) Sr80 $B

(B) ar80 SBT3

(C) ;8o S55%

(D) arBo StodHeEe
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oL A

51.

52,

53

54.

O

E0d, 8 « I8 (d&eho?

(A) BB

(B) &)dBa%

(C) 6&3%

(D) &5y

a8 HB0S° 288 Do ©wodEe8 &N Htren SY
T H00erH?

(A) S8&°%0

(B) 58558850500

(C) Soepiisho

(D) Xaga’nc‘i\:ééeao

:('D:\’)cloés é%eﬁ&

(A) B0&

(B) r&=ex

(C) J;&sH0

(D) 0y

TGN TE) GPTRY Sr8TBaH [BahHe
D00EPL?

(A) S5

(B) e9:38550558

(C) evs3g0%0

(D) S8mesoo

Sow, oo, c‘ibégg') @g.{mwm EOAS Ho
(A) S8es0

(B) g50

(C) 860

(D) Heo



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

Urdu Language

<& Ll tdieE LuA o
JﬁJ; (A)

/':‘?'u?f (B)

A J# (C)

¥J# (D)

ﬂg.u:Q;ﬁ”ufw (b a2
4l (A)

(:)

§2©)

(D)

< we i a3

A

(F1(B)

~(C)

(D)

—e Kk a4

-

LA B
A/ (B)

2,4 (C)

Y (D)

Join Us-

58U BL 4.

LA

3/ ®)

55(C)

&y

—el e S 48,

el L UF 12 s (A)

st eI LS A2 103 (B)
el e L Usag i s (C)
s @1 LIl 2 s (D)
el S LS LE S A 47,
ARSIl

bz F4 (@)

L4l (C)

LAIGLD)

_g_jftc.upjuf Ak 48.

JA6(A)

3/ (®)

15/(C)

¢, D)
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‘4_;1/;!.:..}:&@”,5 49. ié_é‘).zu[u:d:sﬁwéuﬁp 53.
& ) AEGSALIE A
& £iB) SO e 3 LB
& (0 S BUp L B8 L-(C)
G (D) +5 | 33231z (D)
YN - S W ol ) sl bt P OS54,
Je ) U(A)
¥ J#B) & (B)
W12l S(C) ~(C)
24 4 (D) 2#(D)
~§.L@y2.tf-£‘/db&l&‘z 51. _cé-u);ﬁfg&_ﬂmﬂ Geatha s 55.
FIA) LS4 A)
S® LAEeAL3 (S B)
=44(C) wg U#(C)
S tskU93(D)
LBl et 52
L7 A
227 ®)
L (©)
70
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41.

42.

43,

44,

Santali Language

‘Tiri' sabaDX renag TOgeln joToj
Do oka 7
(A) TiTri
B) juri Tiri
(C) gaTeq Tiri
D) Tiril
a.za. agal LEKaTE "BoR" a.za.
renag sa.ri Do okatag?”
(A) Boron
(B) obor
(C) boroz
(D) Borgon
GUnUn renaG sUhi pa.narsi lay
me 7
(A) JAIhA sAbADX mone renAg suk,
DUK, RASKA., hAhAzA
eman IDIl kaTe BHaBX
SoDoRoG-a ona Do gunun ko
meTAG-A |
(B) Qunum boDol TE JAlIha SaBaDX
BEBharog a, onaDo
gunun ko meTAg A |
(C) JAINA DoMo TE JAIhAy
haz,samogri ar Thanw renag
quTum bujHA.G A,onA Do
gunun ko meTAg-A |
(D) JAIWA A.zA. qunum Ar uqum
renag gun, DOS, leKha, ha.l,
orjo, rof eman bujHa.G-A

ona Do gunun ko meTAG-A |
“DULA.Z" REnAg ULtA. AZA. LAy mE-
(A) DAYA
(B) hirka.
(C) joTon
(D) rag

45.

46.

47.

48.

49,

GUnUn sabaDX okataG baf kana ?
(A) ha.rya.z

(B) hazhaD

(C) maric

(D) je.leq

mohAPorAn borno DHoni Do
okatag kana 7

(A) Ko

(B) THo

(C) no

(D) Ho

TAPUG KECED AZAF Do oKA KANA
?

(A) T
(B) G
(C) |
D) t
“maj H

|H

SaBaDx REnag Tala joToj

LekaTe okatag suhi sabaDX kana
>

A) Jogx maJHI

B) majHI ERa

C) mapaj i

D) majHlYan

“hat bahalkE baHaG" bHEnTa
KATHA RENAG JoTHAT mAne Do
okatag 7

_—

_—~ e~ e~

(A) hazam hoz
B

)
C) sajawoG
D) Paldug

pawra.

_—— e~ e~
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50. “oTnog"” a.za. Do oka a.za. kHon
benaw akana 7
(A) DHARTI
(B) BosmoTA
(C) oT
(D) sosonog

51. “biDESojx" a.za. Do okatag kana

52. okatag Do qunum baf kana 7
(A) LAY
(B) Goj
(C) buru
(D) KOIKaTa
53. okatag Do men kaTHa BaF kana 7
(A) kakza Do jalGE BhOr GEy
DA.ZA |
(B) hoZ borsa TUba. rasa |
(C) magaz gupi senog |
(D) seTa GoG kaTe selDXRa |
%. “ol"” renag baraba.ri a.za. bacHaW
me -

(A) Tol
(B) or
(C) helDe hozej er
(D) sereq
55. “TOPO" REnag baRaba.Ri sabaDX
okatag baf kana-
(A) um
(B) reyazog
(C) lolog
(D) da.bxra.g

-
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56. Smitha and Geeta have marbles in the ratio 3:2. Geeta
and Reshma have marbles in the ratio 3:5. If they
have 250 marbles all together, how many marbles
does Smitha have?

(A) 60
(B) 90
(C) 100
(D) 120

57. Price of an article is first increased by 40% and then
reduced by 20%. What is the percentage increase in
its price?

(A) 10%
(B) 12%
(C) 20%
(D) 25%

58. The HCF and LCM of two numbers are 12 and 216
respectively. If one of the numbers is 24, find the
other,

(A) 72

(B) 108
(C) 216
(D) 432

59. In a class 35 students passed in English. 25 students
passed in Hindi and 10 students passed in both. If
there are 75 students in that class, what percentage of
the students failed in both the subjects?

(A) 20%
(B) 30%
(C) 33.33%

(D) 40%

56.

o7.

58.

59.

g0l 6 Q16 AIFER N9 AGAIGER [P 69T QFE | IS
3 6QEFl AR N8 AFAGER RIS 6O QEF | IT
Aqaele Q9 64T AE 980 6RRAN , 6069 Jol
JIGEQ 6R6GIT RIS 60T Q@F ?

(A) 60

(B) 90

(C) 100

(D) 120

QIS @R MY gelerl ¥o% QRN QAGRI 8 A6Q
QI2Ig 90 % QA @3 FAGN LA FRIEA FIORS!
6@6Q 9F 629 ?

(A) 10%

(B) 12%

(C) 20%

(D) 25%

Q06 Qeya 9.Q.g 8 MA.G QRAGET €9 B 90 2T
| 921 QUQ @ 6QIGN QWY 9% BI , 606 AMT
6766 629 ?

(A) 72

(B) 108
(C) 216
(D) 432

9@ 694169 N8 @ 8IF A6IF6R A 62IRLT 98
@4 gIg 99169 Q1Y 62IREE B o @ 2F QN6
Y 6IINRT | 9F 6QF 69416Q 98 FE 8g TR,
6069 J0R2| 6960 I AOD FUCER TN 6TIREE ?
(A) 20%

(B) 30%

(C) 33.33%

(D) 40%
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60. What is the approximate square root of the sum of first

61.

62.

63.

20 natural numbers?

(A) 13.2

(B) 13.8

(C) 141

(D) 145

The cost of 3 bananas, 4 apples and 6 mangoes is
Rs.29 and the cost of 2 bananas, 6 apples and
3 mangoes is Rs.23. What is the cost of 7 bananas,
16 apples and 12 mangoes?

(A) Rs.60

(B) Rs.75

(C) Rs.90

(D) Cannot be determined

The difference between Compound interest and
Simple interest on a certain principal for two years at
20% rate of interest is Rs.25. What is the principal
amount?

(A) Rs.500

(B) Rs.625

(C) Rs.750

(D) Rs.900

Three angles of a triangle are in arithmetic progression
with a common difference of 20 degrees. What is the
smallest angle in that triangle?

(A) 30 degrees

(B) 40 degrees

(C) 50 degrees

(D) 60 degrees

60.

61.

62.

63.

ger 90§ gIgfe Qi JINIg 9dOR 6960 629

N Qe ,¥eda 8 9 e agmi 9¢ ol e° 9
QAR1, 9 68 BN AL TR 9N oFl ST |9
QaEl, 09 649@ B 09 R FW 6@60 689 7

(A) Rs.60

(B) Rs.75

(C) Rs.90

(D) a8 @Ql AR RS 9F

9Q G88 aaea qge G768 90% QI LRER 9
Qda 9998 QG AR P AR MRUF 98 OF
266 | 42IQ R AGCIE 668 629 ?

(A) Rs.500

(B) Rs.625

(C) Rs.750

(D) Rs.900

60IN SRR 61T 6QI8 ARIER 6§18 9o BFIR
ARIQE URINER EIFT 69T GRER JGOr 6EQ FIg
660 62Q 7

(A) 30 @91

(B) 40 &g
(C) 50 &gt
(D) 60 &gl
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64.

65.

66.

67.

Cost of a diamond varies directly as the square of its 64.

weight. A diamond fell down and broke into pieces
whose weights were in the ratio 2:3:4. What is the loss
due to breakage, if the initial cost of the whole
diamond was Rs.1,62,000 ?

(A) Rs.42,000

(B) Rs.58,000

(C) Rs.1,04,000

(D) Rs.1,50,000

If the length of the chord which is at a perpendicular 65.

distance of 7 cm from the centre is 48 cms, then the
radius of the circle is

(A) 20 cm

(B) 25 cm

(C) 30cm

(D) 50 cm

Find the HCF of 24 and 36. 66.

(A) 4
(B) 6
(C)8
(D) 12

Father's age is 4 times the age of his son now. 67.

10 years ago father was 10 times as old as his son.
What is the present age of father?

(A) 50 years

(B) 40 years

(C) 60 years

(D) 80 years

676 9@ LR FRY IR BRES 9F AR TGS
AAIQAT 621NN 6RITT LRI FER U6 RI~Fam @
9:9:¥ AGAIFER ¢S ¢ 6TIRTR | 4G 2IRUQ GIAER
amy €,99,000 GF| CLIRAN , 696Q VTLR FIQEQ
6REe A6 629 ?

(A) Rs.42,000
(B) Rs.58,000

(C) Rs.1,04,000
(D) Rs.1,50,000

QA 699 01 © €A 9AEa @f] N6 QYR 666
IR 6TY ¥ 6AF 26T | 6969 QIR MIAITQ 6T
660 629 ?
(A) 20 6QF
(B) 25 6Qd
(C) 30 6ad
(D) 50 6af

9% B N9 Q@ Q.49 VX @R
(A) 4
(B) 6
)8
(D) 12

g8 Q0da ¥ Q¢ 6enl Jdoiw 904 eo QF gee deolw
Q0d gg 9029 fo g8 gl Joiw Qee Ud 669
?

(A) 50 @9

(B) 40 @4

(C) 60 d

(D) 80 «d
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68. How many perfect squares are there between 200 and

69.

70.

71.

10007
(A) 15
(B) 16
(C) 17
(D) 18
In the given figure AB is parallel to CD. What is the

measure of the angle TPS?

P

A

T/ s
1
¢ - 70 Ay D
(A) 50°
(B) 60°
(C) 70°
(D) 80°

A={0,23,46},B={1,3,578}and C ={0,2,4,57}.
Find (AnB)nC

(A) {3.4}

(B) {0.1,3,5,7}

(C) {7}

(D) Null set

Most of the asteroids are concentrated between the
orbits of which two planets?

(A) Mercury and Venus

(B) Mars and Jupiter

(C) Venus and Earth

(D) Jupiter and Saturn

68.

69.

70.

1.

900 (3Qooo0 FRIGA 6a6eIT 9d @d 2F ?

(A) 15
(B) 16
(C) 17
(D) 18
9@ 9969 AB , CD Q7IeQ 62i@ 9@8 | TPS
ERIEIQ Fld 6@6e 689 ?

p

iy "
507 Q A

(A) 50°

(B) 60°

(C) 70°

(D) 80°

A={02,346},B={13578} 6 C={02457}.
(ANB)NC Q121 ax

(A) 34}
(B) {0.1,3,57}
€ {7}

(D) on 699

YRS G2 I FIRES I 689 AT gew
a0gre 92 A%6ea 9l 62 Q@R ?

(A) Qu 6 99

(B) Agre 8 Qead

(€) g9 6 gga

(D) g9 6 AEre
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73.

74.

75.

76.

In which year did the British introduce the electoral
principle into local bodies in India”?

(A) 1884

(B) 1888

(C) 1892

(D) 1896

Which among the following places in India receives
the lowest average annual rainfall?

(A) Cherrapuniji

(B) Mawsynram

(C) Jaisalmer

(D) Neriamangalam

Which among the following is the last and the thinnest
layer of earth's atmosphere?

(A) Troposphere

(B) Stratosphere

(C) lonosphere

(D) Exosphere

The term 'Socialism' was included in the preamble of
the Indian constitution in which year?

(A) 1974

(B) 1975

(C) 1976

(D) 1977

Home Rule Movement under the leadership of Annie
Besant had its headquarters in which of the following

states of India?
(A) Chennai
(B) Bombay
(C) Calcutta

(D) Gujarat

72.

73.

4.

75.

76.

yalot 3L AEANFIER WAGER ZERHe AT FA6s
RIS QIRIR GORR AageR ?

(A) 1884
(B) 1888
(C) 1892
(D) 1896

FONge MR Ve 6a9 A AT LALR AR
QaAIe 62IRAN ?

(A) 699195

(B) adqad

(C) fAmFiQ

(D) 6RQ2IAGTRE

GIRGe AU 6REE Q1 QIGAERR AQOIQ 68F Gl
deR! 99 62IRaANM ?

(A) g6a@9Q

(B) ql601@0Q

(C) 6nIgIAQ

(D) w6auRaQ

"AFAIRIIR " 00 QGG AR IR RAMER 679
(dglea 29ge IR ?

(A) 1974

(B) 1975
(C) 1976
(D) 1977

2IE 699IeT 6207 n RN RLER  FOnge
AUQ NG 6 Y6IF6R FULTS ARl ?

(A) 60710
(B) @6q

(C) @Rea!
(D) ggels
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77.

78.

79.

80.

81.

Who among the following invaded India in the 10th

and early 11th century and established sultanates in

Delhi?

(A) Arabs

(B) Turks

(C) Aryans

(D) Persia

Geographical grid is a network of

(A) Parallels of latitudes and meridians of longitudes
drawn on a globe

(B) Tropic of Cancer and Tropic of Capricorn

(C) The North pole and South pole

(D) Equator and Tropic of Cancer

The function of planning and coordination of legislative

and other official business in both the houses of

parliament has been allocated to which ministry?

(A) Ministry of Parliamentary Affairs

(B) Ministry of Foreign Affairs

(C) Ministry of Finance

(D) Ministry of Human Resources

Which amendment deleted right to property from the

list of fundamental rights?

(A) 45t amendment

(B) 44t amendment

(C) 43 amendment

(D) 427 amendment

Which veda dealt with magic, hypnotism etc.?

(A) Rig veda
(B) Yajur veda
(C) Atharva veda

(D) Sama veda

77.

78.

79.

80.

81.

FOMYe IR @Y Rofl B RRd SVINIER VRS G
Q6 Algiey 95N Qteem ?

(A) 2o
(B) gt

(C) 2Ny
(D) adzil

6EleaIRe SIR ¥R 69qEa 62IRalNM

(A) 6QI6R8 AR Al QIR
QIFAI Qe

(B) @9¢ 913 6 Aka {6

(C) @@ 67Q B 9F4 6792

(D) 3ge 6%l B QGG FIER

AeRal@ AQPd Q°

JRZIEAEER Qua A9 2Re ARG G2l Q9.
QUAIR ARSI @G 9G° AVIRR QAR G768 69
A88IRAe QDY G2l YIRE ?

(A) AR2CAEE MR AREIRS
(B) 6G6ada Fa4lIRa

(C) 28l ARAIPH

(D) QIR AR AR

6AIRR 2RYRIGA SRR 609 LEARIS ARIFER ANEA
AYRIQ A0S KAl AINARI ?

(A) 45 QEEIRI

(B) 44- QEHIRIS

(C) 43 Q°68IRIE

(D) 42 A6HRIG

606 699 AIg Su , 6AIGR Gqu 2@ Jaesa Qdal
Qe ?

(A) Q9 699
(B) 9699
(C) &ee 69@
(D) Qlf| 69@
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82.

83.

84.

85.

The Government of India launched a "Flood
Management Programme" as a State sector scheme,
to provide Central assistance to the States for taking
up flood control, during which five year plan?

(A) NI five year plan

(B) V five year plan

(C) VIl five year plan

(D) Xl five year plan

The construction of Mallannasagar reservoir as a part
of Kaleswaram project will submerge a village in which
district of Telangana?

(A) Medak district

(B) Warangal district

(C) Karimnagar district

(D) Mehboob Nagar district

The partition of Bengal took place in which year?

(A) 1906

(B) 1904

(C) 1905

(D) 1907

The Equator runs towards which direction?

(A) North-South

(B) East-West

(C) West-North

(D) East-South

82.

83.

84.

85.

696 QISR 6AIRAIE QAINGE] SY AIVER 68T
QLIS 6QIFIR 6991 G968 NRS dIAIQ " QGYI

ARG QARG ' 21 KRgem ?

(A) Il 9BQIER 6Q1%
(B) V Q5Qi@% 6QI6Q!
(C) VIl 089188 69198
(D) Xl 98018 69Ieq

Q6N 6916007 2GS ARAAIR §9 QIR B
@0Ql Il 6OEARIAI QIFYG 699 GRl FEAIR IEF
Q&g ?

(A) 666@ @R

(B) Qo@m &R

(C) /86 qaa &Rl

(D) 67129] G9Q TR

OF SIS 6d AR cTRYM  ?

AFQ 604l 6Ra Gasa AT @dalq ?
A) A0a-284

B) 9% - 98¢

C) 98¢ - 2eQ

(
(
(
(D) 9% - &4
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86.

87.

88.

89.

90.

A body of mass 0.5 kg travels in a straight line with 86.

2 1

velocity v=ax’* where a=5m "*s'. The work
done by the net force during its displacement from
x=0t x=2mis

(A) 1.5

(B) 10/

(€) 50/

(D) 100 J

Which of the following is a non-decomposition 87.

reaction?

(A) Thermal decomposition
(B) Electrolysis

(C) Photolysis

(D) Addition reaction

Bread mould is a 88.

(A) Fungi
(B) Protozoa
(C) Bacteria

(D) Virus

Which one of the following is NOT an example of 89.

eukaryotic cell?

(A) Paramoecium caudatum
(B) E. coli

(C) Euglena viridis

(D) Amoeba proteus

Amoeba is a 90.

(A) Fungi
(B) Protozoa
(C) Bacteria

(D) Virus

Q2R 29I Y9 9 909 6%l 6996a GF [Geld

3/2

v=ax’?6u6eeesra=5m"*s" Qidy @ql il

Q0 Fa6a EQID gerlial @l 691Re<! x=00qq
x=2m_

(A) 157

(8) 10/

(C) 50)

(D) 100 J

FORYE AR 696 99 2d- FARe 9OTU e ?

(A) Gl SURe

(B) fEmeagmaq

(C) 6FI65IMAY

(D) 2682 9l
qRgEea MIGeRl T @
(A) oF QI dam1

(B) sqIGesil
(C) geg
(D) ¥121g

FIRYS AUQ 6966 IR YAIEIITR 6QI9R AWLRY §6<
?

(A) 966ides fReRa

(B) Q-621m

(C) geqe! Gadq

(D) 2i6AImal 69K

aAIFQ e

(A) T& QI FaR
(B) 6gIGegel
(C) golg

(D) 81914
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91.

92.

93.

94.

The value of Cp and Cy of certain elementary gas are
441 Jkg'K-" and 315 Jkg 'K respectively. 10 g of the
gas occupies 6.225 L at 27°C and 1 bar pressure. The
atomic mass of the gas is

(A) 20u

(B) 40u

(C) 60u

(D) 10u

The velocity - time graph of a body thrown vertically
up is

(A) A straight line

(B) A parabola

(C) A hyperbola

(D) A circle

Cells of tracheary elements (tracheids and vessels)
become dead at maturity and lose their protoplasm
due to the deposition of lignocellulosic cell wall

thickening. This is an example of

(A) Cell Growth

(B) Cell Differentiation

(C) Cell Dedifferentiation

(D) Cell Redifferentiation

10 g of an ideal gas occupies 8 litres at NTP. The
temperature at which volume increases fourfold for the

same pressure and same amount of gas is

(A) 546°C
(B) 819°C
€ o°c

(D) 273°C

91.

92.

93.

94.

6x19d 6ela@@ cude Cp 6 Cv @ Q2iged
441 Jkg'K' @ 315 Jkg'K' @66 | 10 g
QI 270 69 6@ 6.2257 I 98 @EEN

9@° 1 QI 91 GHIdQ 2199 QgR 629

6QIGNY GQug @RE VIR AUe] JLIRER I9IR 699 -
A 6QFIeg @AR 699 ?

(A) 98 909 68l

(B) 4@ QIIEQIRI

(C) 9@ QIR IR

(D) 9@ 9!

Jema 6afiel eaQle (gEe 6 easam ) 9GEe
€291 Q6a ¢e 62Im QIF e  [ofeauemdq
6RI8@ S 62IR FPIR FB 6AIG KAV VI
6I6SIISE 11 Q8 62IRAN | 92 FRIQ RIS 26T
?

(A) 621801 98

(B) 6x18@1 F601094
(C) 6218%1 24- TR0
(D) 62181 9R3 - FERIRAE
9Redea 4@ 10gLQ 2ed oMg 8@
YR8 KP2N 64F QRIe 91 8 AR
AGAIER NI F76S 609 SIUAIRE FRG!
QIR gé adie Q& alan ?
A) 546°C

) 819°C

C)o°c

(
(B
(
(D) 273°C
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95.

96.

97.

98.

99.

Different kinds of structures develop in plants in
different phases of growth or in response to
environment. This ability is called as

(A) Plasticity

(B) Elasticity

(C) Heterophylly

(D) Differentiation

A body has a unit mass and is at a state of rest. If it
receives an impulse 'X'suddenly. then what will be
the acquired kinetic energy?

(A) x

(B) x?

(C) x*/2

(D) 2/ x*

In exothermic reaction

(A) Gas is liberated

(B) Precipitation happens

(C) Heat is liberated

(D) Heat is absorbed

Kelps are attached firmly to rocks by

(A) Stipes

(B) Lamina

(C) Phycocolloids

(D) Holdfast

The microbes or bacteria which converts atmospheric
nitrogen into nitrate in the soil is

(A) E-coli

(B) Yeast

(C) Clostridium botulinum

(D) Rhizobium

95. gfeR9q JOG 6odIa QI FRKIA FER TAYNER
QWA Br 8e Qd oYy fRaN | 9@ Qaclg @4
QeI ?

(A) QIEG

(B) amIGas

(C) 626G6QITIAR
(D) Q6001208

96. 6QIGNY QIR X YOQ 9gQ OFE I 92IEq 9FF
€9 Q0IF AR 92l 61T gRIa ARG TN, 6969 TR
05e 98 6@6e 629 ?

(A) x

(B) x*

©) x* /2

D) 2/ x?

97. weqql af] 9ozalsa
(A) SlIq §9e 6aIRaIN
(B) 213G 62IR2IN
(C) o1a @96 29
(D) 919 26818 99

98. AKge YR 9ga QTG @A 9@ @IEe YD 62IRl
Q@az ?
(A) 64699
(B) QUG
(C) TIRsRIERIMIgd
(D) 62IRe TR

99. 6AQ QUIEREEE QI AIRCRIRA ARETaER Ql
QIR6SI68RY FITER QINEEERR QUIBRE @dan ?
(A) R-621R
(B) @8Q
(C) @4 6| aGaina
(D) Q6ISAA
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100. Which of the following gases has rate of diffusion 0.88 ~ 100. GRA¢e (IR 604 GUIAR AR TATRR] 01 o.M

times that of phosphine? Qé Ay 6@ ?
(A) NO: (A) NO2
(B) N2O (B) N20
(C) CHa (C) CHa
(D) CzH2 (D) CaHz

Space for Rough Work:
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3. Candidates are not allowed to carry any papers, notes,
books, calculators, cellular phones, earphones, scanning

devices, pagers, log tables etc. to the Examination Hall.
Any candidate found using, or in possession of such
unauthorized material or involved in copying or
impersonation or adopting unfair means or behaviors will

be disqualified and may be subjected to penal action.

4. This examination is of objective type. The Question
Booklet consists of two sections: Section | and Section Il.
Both sections are compulsory. Section | contains 40
questions from General English, Education, General
Awareness, Reasoning and Teaching Aptitude. Section Il

contains 60 questions.

5. Each question from 41-55 has been written in Odia /
Santhali(Olchiki) / Urdu /Telugu language. The candidates
applying for D.EL.Ed. Telugu/Urdu/Santhali  (Olchiki)
courses are required to answer their specific language
portions at serial number 41 to 55. Other candidates
applied for D.EL.Ed. course are required to answer the

Odia portion (41-55).

6. The Diploma in Art Education (Visual) candidates are
required to answer the questions from (41-55) as per their
Mother Tongue. Questions from 56 to 100 are from
Mathematics, Social Science and Science, which are

compulsory to all.

7. There are a total of 100 questions and the total time
allotted is 2 hours. All questions are compulsory and carry
1 marks each. Every correct answer will get 1 mark and

0.25 marks will be deducted for every wrong answer.

8. The candidates must check that the Question Booklet
has 100 questions with multiple choice answers. If any
discrepancy is found, immediately report to the Invigilator,

so that Question Booklet may be replaced.

9. Each objective question is followed by four answers out
of which one is correct. Your task is to choose the correct
answer and mark your answer on the OMR Answer Sheet,
NOT on Question Booklet.

10. Completely darken the CIRCLE so that the alphabet
inside the CIRCLE is not visible. Darken only one circle for
each answer. The CORRECT and the WRONG method of
darkening the CIRCLE on the OMR answer sheet are

given in the example below:

Correct Method

0000

Wrong Method

o) JOI

000
O0®00
00®@O

11. Use blue/black ink ball point pen only for filling the
boxes and darkening the circle on OMR Answer Sheet.

Do not use pencil.

12. Folding/ wrinkling or putting any unwanted mark or
damaging the OMR Answer sheet is prohibited. The
candidate will be responsible for invalidation of the OMR

Answer sheet for doing such deeds.

13. Space has been provided at the end of the Question

Booklet for rough work.

14. The candidates are not allowed to leave the
examination hall before the OMR answer sheets are

collected and counted by the invigilator.

15. Candidates are provided with carbonless OMR answer
sheet. They must submit the original copy to the invigilator

and take away the carbon copy with them.
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